IC, et S 7. » Voerot . e

? Oppg- 2e) RoabSpeoer h1er “ﬂ” et er
O\Qéaﬂé.g/’ond VzebSior A lnrt
Iy Wmmfzf

A, _
/n#r %
l&) F_ B F. + r’; W: Q)
A A9 W _ F:' - FAO = (CA CIQ )
- -
“ oL E,
i/ (Po(u«/
d 7(’-/ CO @/x‘l‘ O/c\
Dhnﬂé/sf(kﬂ{}’—g'l/) e ,Z
5’_4‘_ . Z"O‘S'C”%-
rC"’z = /Oj
i sl
: o, = 107 57
- R —
B r- = r, - /O > }
}:—W@”LL o /VQ. s cos in—-n
)‘{, JPI e 4 -
ic> 2.5.$ ¢ R M e RIS

e
o <% Co¥

s &8 Ao™

X#—

. > o .
=y =5 °n=/‘< 120 Cor Kk
5 - /«Zfac,, - R e RGN
1'3:)«( P Cy = L" C"’Q* =(J = Chret = ,‘(3"’"@
2
_ ke, Coor G -/‘VL( Fs = EVOC*

-—1

e

e em e

R A TR AT AT T T SRR




